Pre-Calculus Final Exam Review Sheet (Part II)
1. You deposit $2000 into an account that pays 4% interest compounded continuously.  How long will it take the money to double?

2. You deposit $10,000 into an account that pays 3.5% interest.  How much will you have in 5 years if it is compounded:

a)  quarterly

b)  continuously

c)  monthly

Solve the following triangles (round sides to the tenth and angles to the minute):
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For #’s 6 – 8, find the area of #’s 3 – 5 above.

9. A 6’ ladder leans against a building and makes a 47 degree angle with the ground.  How far is the base of the ladder from the building?

For #’s 10 – 13, classify the following conic sections:
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 for #’s 14 – 16:

14.  Name the center  

15.  Name the vertices
     
 16.  Name the foci

Use 
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  for #’s 17 – 19:

17.  Name the vertex

18.  Name the focus

19.  Name the directrix

20. What is the center and radius of  
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21. Change  
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 to exponential form.

22. Change 
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23. Solve for x:  
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24. Solve for x:  
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25. If the graph of 
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 moves up 4 and left 2, what is the new equation?

Solve for principal values of x:
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28. Solve  
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 for all values of x.

Given  
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, identify the:

29.  amplitude

30.  Period

31.  Phase shift
     32.  Vertical shift

If x is in Q II, and 
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For #’s 36 – 38, state the domain and range:
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Find the limit of the following:
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